
0.18 0.19 0.2 0.21 0.22
]2c) [GeV/γγ(m

0

2000

4000

6000

E
ve

n
ts

 / 
( 

0.
00

1 
)

 =  0.66 +/- 0.02
L

α

 = -0.785 +/- 0.02
R

α

 =  0.20007 +/- 0.00002µ

1 =  0.00330 +/- 0.00002σ

2 =  0.00330 +/- 0.00002σ

 =  0.46 +/- 0.020A

 =  109.5 +/- 0.2
L

n

 =  14 +/- 3
R

n

/ndf = 1625.42/72χ

2c = 0.20 GeV/truth
Sm

0.18 0.19 0.2 0.21 0.22
]2c) [GeV/γγ(m

4−

2−

0

2

σ
(f

it-
da

ta
)/

0.18 0.19 0.2 0.21 0.22
]2c) [GeV/γγ(m

200−

100−

0

100

200

(f
it-

da
ta

)


	Contents
	Page 1


